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  π-périodique 
  Asymptotes : 
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F o r m u l e s  d ’ a d d i t i o n  
( a + b)  =  cosa cos b    −  sina sinb 
( a − b)  =  cos a cos b  +  sin a sin b 
 a + b)  =  sin a cos b  +  cos a sin b 
 a − b)  =  sin a cos b  −  cos a sin b 
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r m u l e s  d e  d u p l i c a t i o n  
s 2a  =  cos² a  -  sin² a 
          = 2 cos² a - 1  =  1 -  2 sin² a 
 2a  =  2 cos a  sin a 

                    2 tan a   
n 2a  =       1 - tan² a 
s 3a  =  4 cos 3 a  -  3 cos a  

n 3a  =  3 sin a  -  4 sin 3 a 

A u t r e s  f o r m u l e s  
  cos a cos b  =  ½ [ cos ( a+b) + cos (a-b) ]  

sin a sin b  =  ½ [ cos ( a-b) - cos (a+b) ]  

sin a cos b  =  ½ [ sin ( a+b) + sin (a-b) ]  

cos a sin b  =  ½ [ sin ( a+b) - sin (a-b) ] 

      co  s p  +  cos q  =  2 cos p+q   cos p-q  
                                       2            2  

c  os p  -  cos q  = - 2 sin p+q   sin p-q  
                                       2            2  

s  in p  +  sin q  =  2 sin p+q   cos p-q  
                                       2            2  
s  in p  -  sin q  =  2 cos p+q   sin p-q  
                                      2           2 

Formules d’ EULER 
ixix ee −+ ee ixix −−
cos ² a    sin ² a  =  1 

Cercle U Rad. Deg. COS. SIN. TAN. 
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 1 + tan² x   impaire  − π π   
Equations trigonométriques 
= cos b  ⇔  a = b + 2k π ou  a = - b + 2k π 

 sin b   ⇔  a = b + 2k π ou  a =  π - b + 2k π 

= tan b  ⇔  a = b + k π    et   (a,b) ∈Dtan×Dtan    

 
 
 
 

 x + 2kπ - x π + x π - x π/2 + x π/2 - x
COS    cos x    cos x  - cos x  - cos x - sin x   sin x 
SIN    sin x  - sin x  - sin x    sin x    cos x    cos x
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